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7. At a certain college, 20 percent of the men and 1 percent of the women are orver six feet tall.

Furthermore, 40 percent of the students are women. If a student is randomly picked and is

observed to be over 6 feet tall, the probability that the student is a men is
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12. A federal study reported that 10 percent of the U.S. workforce has a drug problem. A drug
enforcement official for the States of Indiana wished to investigate the statement. In his
sample of 6 employed workers: Then, the likelihood that none of the workers sampled has a
drug problem is
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